1. Create an adjective \Noun phrase by matching the word { dream } whit one of the following answer :
a)  Job
b) Dream
c) Way
d) Drive
2. Create an adjective \Noun phrase by matching the word { cell } Whit one of the following answer:
a) Job
b) phone
c) Drive
d) Sleep
3. Create an adjective \Noun phrase by matching the word {technology} Whit one of the following answer:
a) Fashion
b) Opening
c) Dream
d) Felds
4. The phrase { cite life } consists of :
a) None + adjective
b) Verb + noun
c) Noun + noun
d) Noun + Verb
5. The phrase { social studies  } consists of:
a) Adjective + noun
b) Adjective + Adjective
c) Noun + noun
d) Verb + noun
6. The phrase {especially interesting} consists of:
a) Noun + noun
b) Adverb + Adjective
c) Adverb + noun
d) Adverb + Adverb
7. The prefix {UN} {e.g. unfair}meaning:
a) Together
b) Not
c) Result
d) Before

8. The prefix {mis} {e.g. mistaken}meaning:
a) Back
b) With
c) First
d) Wrong
9. The prefix {per} {e.g. preschool }meaning:
a) Before
b) Together
c) Alone
d) Back
10. The prefix {in} {e.g. inappropriate } meaning:
a) With
b) Not
c) Together
d) Again
11. The prefix (in) (e.g. inappropriate ) means
a) With
b) Not
c) Without
d) Again
12. What does the word "overpopulation" mean
a) (noun) when the population is too high too many people in one place
b) (adjective) when population is around one million
c) (verb) to fill a place
d) (noun) when the population is too low few people in one place
13. what does the word "overestimate" mea
a) (noun) to give a correct estimate
b) (verb) to give an estimate that is reasonable
c) (verb) to give an estimate that is too high
d) (noun) to give an estimate that is too low










Read the following paragraphs and then answer questions {11:2}
Sick-Building Syndrome
Paragraph A :
Although most common in office buildings and schools, the indoor pollution that cause's sick-building syndrome can also occur in houses. Imagine a typical home. The people who live there burn oil, wood, or gas for cooking and heating. They might Smoke cigarettes, pipes, or cigars. They use chemicals for cleaning. They use hundreds of products made of plastic or particleboard—that is, an inexpensive kind of board made of very small pieces of wood held together with a chemical. These products give off chemicals that we can't see ,But that we do breathe them in. In some homes, carbon monoxide from cars in the garage can enter the house .And in many areas, the ground under the building might send a dangerous gas called radon into the home. The people in the house are breathing in a "chemical soup. “

Paragraph B :
Then what causes sick-building syndrome in an office building or school where people don't smoke or burn oil. Wood, or gas? Experts have discovered several sources of sick-building syndrome, among these are mold and bacteria, synthetic products, and lack of ventilation-ــــ or the movement of fresh air into and out of the building. In many buildings, rain has leaked in and causes water damage to walls and carpets. This allows mold and bacteria to grow. Air conditioning systems are another place where mold and bacteria can grow. Synthetic (that is. man-made) products such as paint, carpeting, and furniture can be found in all offices and schools. These products release toxic (poisonous) chemicals into the air. Perhaps the most common cause of sick-building syndrome, however, is lack of ventilation. Most modern office buildings are tightly sealed; in other
words, the windows don't open, so fresh air doesn't enter the building. In a building with mold, bacteria, or toxic chemicals, lack of ventilation makes the situation more serious.
Paragraph C :
There are several solutions to the problem of sick-building syndrome; the most important of these is cleaning the building. First, of course, experts must determine the specific cause in any one building. Then workers probably need to take out carpets, wallpaper, and ceiling tiles in order to

14.what is the main idea of paragraph (A)?

a) the indoor pollution that causes sick-building syndrome can also occur in houses.

b) The people who live there burn oil, wood, or gas for cooking and heating.

c) They use chemicals for cleaning.

d) carbon monoxide from cars in the garage can enter the house.

     15. what is the main idea of paragraph (B)?

a) In many buildings, rain has leaked in and causes water damage to walls and carpets.

b) Most modern office buildings are tightly sealed
c) Experts have discovered several sources of sick-building syndrome; among these are mol

            and bacteria, synthetic products, and lack of ventilation

d) Synthetic (that is, man-made) products such as paint, carpeting, and furniture can be found in all offices and schools.
16. what is the main idea of paragraph (C)?

a) experts must determine the specific cause in  any one building.

b) There are several solutions to the problem of sick-building syndrome the most important of these is cleaning the building.

c) workers probably need to take out carpets, wallpaper, and ceiling tiles in order to remove mold

d) They should remove synthetic products and bring in natural products
17. The pronoun"They" in pragraph C refers to ..................
A. Carpets, waiipaper, and ceiling tiles
B. Workers
C. Mold
D. Becteria

18. What is the meamimg of ’Ventilation ’ in pragraph B ?
A. Mold and bacteria
B. Synthetic products
C. The movment of fresh air into and out of the building
D. Rain has leaked in and causes water damage

19. What is the meamimg of ’senthetics ’ in pragraph B ?
A. Man ـــــmade
B. Paint
C. Furniture
D. Schools
20. What is the meaning of ’ Toxic ’ in paragraph B?
A. Becteria
B. Chemicals
C. Poisonous
D. Products

21. This is based on the belief that students are not born with identical ability . Because they are not exactly the seame. The underlined world is closest in meaning to .
A. Not identical
B. Not the same
C. The same
D. Stuents
22. Of cours, one drawback , or disadvantade, is that students experience exhaustion . The underlined word is closest in meaning to .
A. Advantage
B. Disadvantade
C. Exhaustion
D. Students
23. IN the united states , each state determine its own curriculum. The fifty ststes decide on theire own curriculua. The underlined word is closest in meaning to .
A. Curriculum
B. Each states
C. Decide
D. united stat
24. Of course one drawback. or disadvantage is that students experience exhaustion. The underline word means

A. Advantage
B. Disadvantage
C. Exhaustion
D. Students
25. In the united states, each state determines its own curriculum. the fifty states decided on their own curricula. the underline word is closest in meaning to.
A. curriculum
B. each state
C. decided
D. united states
26. The topic of a paragraph is:-
A. a word or noun phrase
B. one or two sentences
C. main idea


27. the word "Global" is closest meaning to
A. work or energy

B. list of people

C. worldwide

D. whole
28. The word "achieve" is closest meaning to
A. Courses
B. Topics
C. Disadvantages
D. get or reach
29. The word "effort" is closest meaning to
A. energy or work
B. self control
C. world wide
D. think about

30. Thay are traing to find a solution {n} . to the proplem of overcrowding . dat this is a difficult problem to …………..{v} fill the gap by choosing one of the following options:
A. Solved
B. Solve
C. Solving
D. Solution
31. Most people Know about aire pollution {n} in big cities, they’re just beginning to learn about the many …………………{n} that we have inside buildings. Fill the gap by choosing one of the followning options :
A. Pollutants
B. Pollution
C. Polluted
D. Pollute
32. There are crowds{n} of people everywhere , the mass ــ transit system is especially	................{adj} . Fill the gap by choosing one of the followning options :
A. Crowds
B. Crowding
C. Crowded
D. Crowd


33. The city is not safe ( adj ) because of crime. People can`t leave their homes………… (adv) at night, and the police can`t provide for their safety (n). . Fill the gap by choosing one of the followning options :
A. Safe
B. Safety
C. Safely
D. Safed
34. The abbreviation {e.g} means:
A. That is
B. In other words
C. In a nut shell
D. For example
35. The suffix ’ــــ tion ’  is used to create:
A. Nouns
B. Verbs
C. Adjectives
D. Adverbs
36. The suffix ’ـــ ist ’  is used to create:
A. Nouns
B. Verbs
C. Adjectives
D. Adverbs
37. The suffix ’ـــ ent ’  is used to create:
A. Nouns
B. Verbs
C. Adjectives
D. Adverbs


38. The suffix ’ـــ ful ’ is used to create:
A. Nouns
B. Verbs
C. Adjectives
D. Adverbs
39. The phrase ‘ best friend‘ is a :
A. None phrase
B. Verb phrase
C. Prepositional phrase
D. Infinitive phrase
40. The phrase ‘ spend money‘ is a :
A. None phrase
B. Verb phrase
C. Prepositional phrase
D. Infinitive phrase
41. The phrase ‘ in a similar way ‘ is a :
A. None phrase
B. Verb phrase
C. Prepositional phrase
D. Infinitive phrase
42. The phrase ‘ to eat food ‘ is a :
A. None phrase
B. Verb phrase
C. Prepositional phrase
D. Infinitive phrase




43. What is the part of speech of the word  ‘offensive  ’ :
A. None
B. Verb
C. Adjective
D. Adverb
44. What is the part of speech of the word  ‘ psychologist  ’ :
A. None
B. Verb
C. Adjective
D. Adverb
45. What is the part of speech of the word ‘ player	’ :
A. None
B. Verb
C. Adjective
D. Adverb
46. What is the part of speech of the word  ‘ information  ’ :
A. None
B. Verb
C. Adjective
D. Adverb
47. What dose the word ’  overcrowded ’mean ?
A. A noun htat refers to a place with too maun people
B. An adjective that refer to a plece whith too many people
C. A noun that rrfer to a plece whih few people
D. An adjective that refers to a plase whith few people
48. What dose the word  ’  overestimate ’ mean ?
A. { noun} to give a correct estimate
B. { verb} to give an estimate that is reasonable
C. { verb } to give an estimate that is too high
D. { noun} to give an estimate that is too low
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49. What dose the word  ’ overpopulation ’mean?
A. { noun} when the population is too high : too many people in one place
B. { adjective } when the population is around one million
C. {verb} to fill a place
D. { noun} when the population is too low : fow people in one place

50. Create an adjective \ noune phrase by matching the word ’ old ــ ’ with one of the following answers :
A. Fashionly
B. Fashion
C. Fashioned
D. Dreaming


